Puissances de Dix (C)

Trouvez chaque produit ou quotient.

4,65 +1000 = 8,2x 0,001 =
7932 +0,1= 6,8 X 0,01 =
4,5726 X 100 = 2,917 x 0,01 =
3+-1000= 542 +0,1=
8,1+ 10= 7,26 + 0,001 =
5x01= 1,271 + 0,001 =
3,66 10 = 8,745 x 0,1 =
4,648 x 1000 = 1,5857 x 0,1 =
3,042 + 100 = 4,39 x 0,001 =
1,62x1= 6,8 X 0,001 =
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Puissances de Dix (C) Solutions

Trouvez chaque produit ou quotient.

4,65 -+ 1000=0,00465

7,932 + 0,1 =79,32

4,5726 x 100 = 457,26

3+1000=0,003

8,1+10=0,81

5x0,1=0,5

3,66 ~10=0,366

4,648 x 1 000 =4 648

3,042 =100 =0,03042

1,62x1=1,62

8,2 x 0,001 =0,0082

6,8 X 0,01 =0,068

2,917 x 0,01 =0,02917

542 + 0,1 =542

7,26 + 0,001 =7 260

1,271+ 0,001 =1271

8,745 x 0,1 =0,8745

1,5857 x 0,1 = 0,15857

4,39 x 0,001 =0,00439

6,8 X 0,001 = 0,0068
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